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CP PHYSICS Answer ey
VELOCITY AND ACCELERATION REVIEW

1. Wihat three components do all geod graphs have?
1. Title {uswally y-axis label w8, x-puis Label)
2. Labeled axes with units
3, Regular bniervals for the scales on each axis
2. Defing each of the following terms. State whether they ane scalar or vector quantities,
&, distante: scalar, how far an object travels
b. displacement: veoior, how far an object is from a reference point {staning point)
€. speed: scalar, how Tast gn object moves
d. velocity: wvector, the speed and disection of an object that is moving

e, acocleration: wvector, how fast an object’s velocity changes

s identify tha following variabies and give thelr units:

d = displacement, m v = yelodity, mis
b= tirmg, a = accelerstion, my's”
wa = Wnelial velgeity, mfs e = final velodily, mJ's

4, A woman drives 10 miles o work. She returns hame for luench and then drives Back Uo the
office after lunch. What IS her total displacement from home? What is the total distance
shiE drowe?

Total dEplacement = 10 milés (from 8 referencs poiit - home)
Total distance = 30 miles {10 mi to work, 10 mi to home, 10 mi bo work )

B Wihen does an object experience acceleration?
An ghiect only euperiences acceleration when it changes speed, changes its
direction, or changes both speed and direction

. If & car travels arcund & ciroular brack at 22 keny'h, s the car's motion described as
uniform or accelerated? Explaint

IS motion is described as acoelerated since ot © dlways changing direction even
il it mantaing & oonstent specd of 22 kei'h

7. If an cbject is 2aid o have uhiform motion, then what does one know about IS welocity?
about its acceleration?
AR object with uniform mgticn has a constant welocity. 1T has no acosleration
since constant welocity meand the object’s speed and direction remain the same.

8. Dranw all motion graphs that represent no molon or pero velocity.

d —— -
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BALANCING CHEMICAL EQUATIONS

Load the simulation Balencing Chemical Equatfons
httpe// phet.colormdo edu/enSsimulation/bakancing <<hemical -equations

CRITICAL THINKING QUESTIONS
1. Explore the Balancing Chemical Equations simulation. Disouss with your group what you find

a) What are the different ways that the simulation indicates when an equation is balanced
(leok in the bottom left cormer of the simulation to see the options)?

2. For each balanced reaction, indicate the total number of molecules in the table below. You will
have to try to balance each of the equations.

Reaction Total Number of Molecubes
| Reactant Side Product Side
(Lerft) {Right])
Make Ammaonia
| Separate Water !
- Combust Methane

3. Is the number of total molecules on the left side of a balanced equation always equal to the
number of total modecules on the right side of the equation? Explain your answer,

4. For each balanced reaction, indicate the total number of atgms in the table below,

 Reaction | Total Numberof Atoms
| Reactant Side Product Side
(Lete) (Right)

| Separate Water
Combaust Methane

‘Make Ammonia |
I
I

5. I the number of total atoms on the left side of a balanced equation always equal to the number
af total atoms on the right side of the equation?

6. What is the same on the left and right side of a balanced equation? Explain your answer,

7. Az a group, play level 1 of the balancing equation game. Write down the strategies your group
uses to balance chemical equations.

BALANCING CHEMICAL EQUATIONS 1

Narme: Date:

Formal versus Infarmal English Worksheet (W.6.1d)

Formal English iz used most often when you do not know a person or are meeting them
for the firat time You pronounce words rore carefully and don't use as many
contractions such as aren't, is't, wasn't... ¥ oumay want to know formal English to
read a book, write a letter, resume, or invitation.

Informal English is used in everyday conversalions and in personal wiling such as
letters, emails, or texts. S tend to be simpler and shorter. E: les may
include; hey, wassup, howdy, holla, cool,awesome....

Directions. Read each sentence and label it formal or informal.

Example A Let us go to the parktoday to throw owr Frisbee
Answer: Formal

1. Can you pass the potatoes please?
1 lam having a very good day today.
3. Yo, look at that zebra in the cage!

4. ¥ our hair looks very nice today.
5. That movie
6, Dude, where's my car?

7. Are you going to the rehearsal dinner tonight?
8. I haven't eaten a thing for awhle

9. Holla if you hear me!
10. Good moming, my name 15 John.

11. Momin® sif, nice o seeya.
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Snoring Beauty
By Brace Hals

1. According lo the selecton, which event happens first?

A The king and gquean theew a wingding

0. Ine king and gqueen had a baby gin._—

£. The boby was blessed

T

2. According lo the salachon, what will happen becauze of Beebo the fainy's cursat

Beebo said when the princess tums 16 she will be run

over by a pie wagon and die

Note: Tintinnitus, not Beebo, changed the curse so when

the princess turns 16 she will be run over

swakened by & guinces
answer key
3. According o the selechon, what three things hapg ]nc l u d Ed

1) The dragon’s eyes popped open

2] The dragon turned back into Marge the princess

3) Prince Quince and Princess Marge got married

4) Marge's snoring kept Prince Quince awake.

5) Marge and Quince lived happily and noisily ever after.

E Betsy Weighe wiwrw, Class room-Caboodie com

Stoichiometry

Lecture Examples Answer Key

Ex. 1 Balance the following chemical equalions:

3NaBr + 1H,PO, — 3HBr + 1Na,PO,
2 CyH NSOy — 6CO, + 3N, + SH,O0 + 90,
2Ca(OH), + 250, + 10, — 2H,0+ 2CasSO,

Ex.2  Write a balanced chemical reaction for the combustion of octane, CgH, g, in air.

2CgH g + 250g, —* 18H,0p+ 16 COyy,

Ex. 3 Write the balanced chamical equaton for the combunaton of the malalhc element calcium
with the nonmetallic element oxygen, O,

2Cag + Oy — 20a0

Ex.4 Calculate the molecular weight of

(@) N,Og MW = 108.0104 g mol™’
(b) Ca(CaHy0s)s MW = 158,167 g mol™’
(€}  [KiUO.).(VO,).3H,0) MW = 902.1758 g mol™

Ex.5 Calculate the percentage by mass of oxygen in 4a and 4b above.
(@) [(5= 159994 g mol™") / 108.0104 g mol™" | x 100% = 74.0642%
(b) [(4 x 15.9994 g mol™ ') / 158.167 g mol™' | = 100% = 40.4620%

Ex.6 (a) Calculate the number of O atoms in 0.470 mol of CgH,,04

# O atoms

(0.470 mol CgHy,04)(6.022 x 10% molecules/t mol)(6 O atoms / 1 molecule)
1.70 x 10** O atoms

(b) Calculate the total number of ions in 38.1 g ol CaF..

# ions = (38.1 g CaF,)}(1 mol f 78.075 g){ 6.022 = 10* molecules/ mal) (3 1ons /1 molecule)
- 8.82 x 107 ions

Ex.7 (a) Whatisthe mass in grams of 1 mol of glucose, CgH,,07
mass = (1 mol)(180.1572 g/1 mol) = 180.1572 g

(b}  What 15 the mass in grams of 3.52 mol of chromium(lll) sulfate decahydrale’”
I

Calculating molarity answer key. Calculating molarity worksheet answer key.

n1 se51n01 ti hcum woh etacidni ot dica na .g. ot deilppa si 'htgnerts'g/cm3) Therefore, salt mass: m = cxv =0.16 x 40 = 6.4 g of salt - Q3 Given 5.0 g of a salt, in which volume of water in cm3, should be dlssolved to give a concentration solution of 12.5 g/dm3'? The solubility can also be expressed as solute mass by water mass, for example, g/100g of
water. You can repeat the experiment to get a more accurate and reliable result. Anyway, the last drops of water should be added more carefully with a teat pipette. comment, for example, detect a silly error or request for the type of GCSE calculation I do not seem to have covered In sections 1-16 you can study definitions of the terms used and
examples of how to make chemical calculations. Answer 0.025 M Click here to view a video of the PROBLEM \(\PageIndex{8}\) solution What volume of a solution 1.00-M Fe(NO3)3 can be diluted to prepare 1.00 L of a solution with a concentration of 0.250 M? These review notes and practical questions on how to make chemical calculations and
examples worked should be useful for the new AQA, Edexcel and OCR GCSE (9-1) chemical science courses. comment or request a type of GCSE calculation not covered? So... Introduction of mule calculations s Volume of soft gas * Advanced Redox titration Q's * Non-redox titration Q's Qa7.1 (a) f. 7) Calculations Using a pipette it is possible to
calculate solubility in two ways, expressed as two rather different units. PROBLEM \(\PageIndex{1}\) Explain what changes and what is the same when 1.00 L of a NaCl solution is diluted to 1.80 L. (1c) volume in dm3 = soft / molarity (concentration) Use the right triangle to help you rearrange the equation for the basic definition of molarity. So the
whole solution in the nozzle is transferred to the bottle with the help of a funnel to avoid the risk of spilling. Procedure for the creation of a known standard molarity solution The method and procedure of howa standard solution of a = 51.0 / 0.6 = emulov / ssam A A= noitartnecnoc 3md 51.0 = 0001 / 051 .rehtegot resolc era egareva no selcitrap
etulos eht ,noitulos eht detartnecnoc erom eht ,diuqil fo emulov emas eht ni evlossid uoy ecnatsbus eht fo erom ehT .htiw detrats uoy noitulos tlas detarutas fo ssam ro emulov eht ni devlossid tlas fo ssam eht teg uoy thgiew lanif eht morf hsid eht fo thgiew lanigiro eht gnitcartbus yB detaropave si retaw eht lla taht gnivorp ,tnatsnoc si tlas dna hsid eht
fo thgiew eht litnu detaeper si siht .dehgiew yletarucca if ) is ,txen )3( .metsys rewene eht etni degrahcsid eb ym tahtsbus fo secitnats of secitnauq. Melborp L 6.1 Rewsna .)!Egap siht umer no siht roam stole ,3md/lom or deserpxe yllauusute nottnecnoc( ytiralom nwonk ylerucca na .G. Esylana otn TNA Aw uoy Fi == ga + )g(Ich : Cirolhcoleyhcrateyh
Come siht .Deen uoy dilos hcum wihom t ytiralom eh dna deriuch hraf ehra srath srank srank krow krow krow . OT WOH WORE HOUDECORPD DNA DA HT Notartnecnocnoc nwonk andlesicerp s - NOITULOLOS DRAMS WOH - 2 xidneppa )( xe-bus dna egap . G02 Notartnecnoc um nouitlos slaps to 352 052 to tnaw uoy esoppus debircsd ylluf if ed
socisjAb sotisiuger so martsuli 6 a 2 sepiA§Aes sA . )siamiced seragul siod ed 0£As1cerp moc alcnaAreferp ed( orez omoc odinifed ©A adarbiliuge ©A asicerp acinArtele alenap amu ,)osac etsen( odil3As ed adicehnoc 0£A§Aartnecnoc amu ,©A otsi 0£Ardap ofA§Aulos a rezaf arap otnemidecorP .7 ofAS§Aes a aiel ofAtne ... z aicn¢Atsbus amu arap
,otnatrop ;)atierid A eterbmel od edadiralom alumr3Af ed olugn¢AirT( .. 0£A§Aauqe a asu 2Acov ossi arap ,aug iA ed emulov e alcn¢Atsbus ed edaditnauq a adad ,asouqa ofA§Aulos amu ed ofA§Aartnecnoc a adad of£A§Aartnecnoc e emulov ed asouqa o£A§Aulos amu me aicn¢Atsbus ed assam uo selom ed orem®An o raluclac ed zapac res asicerp 2AcoV
.ocirdArolc odicjA ed ofArdap o£A8Aulos moc adalutit res edop )lac ed anllacla augiA( oicljAc ed odix3Ardih ed 0£A§Aulos A .p ,augjA an edadilibulos axiab ed saicn¢Atsbus arap adaugeda etnemlaicepse ©A e anilacla ofA§Aalutit - OdlClA olpmexe rop ,odaugeda etnegaer mu moc egaer otulos o es ofA§Aalutit rop edadilibulos a ranimreted edop aAcoV
.0£A8Aiulid amu me madum semulov so e of£A§Aartnecnoc A ?aug ,A an alcn¢Atsbus amu ©A lev?Alos ofAuq erbocsed 2Acov omoC ofA§Aartnecnoc e edadilibulos ed solucljAc erbos 1 ecidn2ApA )c( ecidnA-bus e anig iAp ad roirepus e o£A§Aiulid ed solucljAc erbos 3.41 of£A§Aes e sepA§Aalut1t erbos ... ossid rebas rasicerp edop m©Abmat 2AcoV
.BI/2A/SA levAn mu arap setnaicini arap socisjAb socimAuq solucljAc e acimAuQ ESCGI/ESCG ecneicS 4SK arap samelborp arap samelborp arap sodivloser samelborp e eml -no acitjArp ed solucljAC enil-no acmlAuq ed sovitatitnauq solucljAc ed ecidnA ed sanigjAP socmlAuq solucljAC sacimAuq satoN levAn ed ofAsiver amu uo§AnavA 2A 2A omoC
ECG e levAN O ,ESCGI ,1-9 ESCG ecneicS 4SK yrtsimehC s'nworB COD COD avitatitnauq acimAuq esiljAna e acimAuq me solucljAC 2 egaP .L/gm 05,0 a odatimil ©A euq ,etnelavaxeh omorc odniulcni ,saicn¢Atsbus ed edadeirav amu arap sodicelebatse marof setimil sO ?0£A§Aulos ad 3mc 04 me .Atse las ed assam euq ,3md/g 61 ofA§Aartnecnoc ed
anilas o£A§Aulos amu adaD 2Q - 3MD/G for most science students from the UK GCSE. Suppose you want to compensate 250cm3 of a sodium sodium )911 = 08 + 93 = rBK(, alumr3Af ed assam / assam = selom ]08 = rB ,93 = K :s'TA[ .ocarf otium odicjA mu odnacidni ,atierid A %2 ed acrec ed ©A o1rbAl1uqe O )qa(+H + )qa(aOOCSHC)qa( HOOC3HC
:epoAte odicjA ,olpmexe rop .siaer sariepuot ed sorem2An setnerefid m2At sam 0£A§Aulos ed sortil a las ed sariepuot ed o£A§Aroporp amsem a m2Atnoc sartsoma saud sA atsopseR aug,A ed satog samitl?A sa arap lit°A ©A taet ed atepip amu ,3mc0.052 ofA§Aarbilac ed acram an etnemataxe asuoper ocsinem o euq arap arup augjA moc otreboc ©A
ocsarf o ,etnemasodadiuc otium ,0£AtnE .ESCGI acunAuQ a uo olpirt oim2Arp o ,aicn2AiC me odavele siam ESCG etnadutse o arap sartxe siairetam sod airoiam a merboc 51 a 7 e 1 sepA§Aes sA .m©Abmat odasu ©A ralom arvalap a e )!radiuc ,etnemavon ohlev oriehnid( M omoc dnahtrohs me adatoned sezev s A ,edadiralom adamahc ©A
ofA§Aartnecnoc a )3md/lom uo( 3-md lom ed ofA§Aartnecnoc ed sedadinu odnasU !atierid A 01ugn¢A1rt 0 ajev ,sariepuot sa raluclac omoc ebas 2Acov euq ed es-euqifitreC )sortil( 3md me etnevlos ed emulov / otulos ed selom = edadiralom = ofA§Aartnecnoc !ohlev oriehnid me )1( ortil 1 = )3md( ocib?Ac ertemiced 1 sepA§Aalut1t odniulcni ,sacitAlana
sedadilanif sa1r|AV arap oEArdap sepA§Aulos ,olpmexe rop ,adicehnoc ofAsicerp moc ofA§Aartnecnoc ed sepA§Aulos ed osu o mevlovne acimAuq me socitAlana sotnemidecorp sotiuM .3md / lom 02,0 ed asicerp of£A§Aartnecnoc amu moc ofA§Aulos ed 3mc 0,052 ©Ata rezaf arap oirjAssecen ©A 1CaN las orup ed g592.2 missa ,)!ragul lamiced 3 ed oirb-
Aliuge mu met 2Acov es ko ©A euq( g 529.2 = 5.85 x 50,0 = oirjAssecen 1CaN ed 1CaN alumr3Af ed assam x 1CaN lom = 01r|Assecen ICaN ed assam ac1s|Ab ariepuot ed alumr3Af aD 5.85 = 5,53 + 32 = 1CaN ed ralom assam missa ,5,53 = 1C e 32 = aN :sacim "Ata sassam lom 50,0 = 52,0 x 02,0 = 0001/052 x 02,0 = o1r|Assecen ICaN 3md sariepuot =
0001 / 3mc me emulov e )3md( emulov x )3md/lom( edadiralom = sariepuot :)atierid A( edadiralom alumr3Af aD :ranimilerp olucljAC 3-edlom 02,0 ofA§Aartnecnoc ed 0£A§Aulos KBR = 5.95/119 = 0.050 mol 400 cm3 = 400/1000 = 0.400 dm3 Molarity = Solution Spring/Solution Volume Solution ofA§Aulos ed g001 me g X ,0£A8Aulos ed g1.21 me
odivlossid ©A las g9.0 .BI/2A/SA levAn mu arap eugnarra ed socis iAb socimAuq solucljAc e YRTSIMEHC ESCGI/ESCG ecneicS 4SK a arap sodivloser samelborp e SEAAALUCLAC .7 o£A§Aes esiveR sedadeirporp saus e setrof e socarf sodicjA e esab- ad1c,A airoet a erbos 0£A§Aamrofn1 siaM etlusnoc ,sehlated siam araP ?LIAME atnugreP .augijA an sias
siod ed arutsim amu ,olpmexe rop ,adartnecnoc siam of£A§Aulos amu atneserper atierid o£Am ed amargaid o ,etnevlos on sadivlossid saicn¢Atsbus saud matneserper samargaid sO ... o£A§Aauge atse rajnarraer ed zapac res asicerp aAcov e ,)ralucelom ofA§Aartnecnoc( ralom ofA§Aartnecnoc a omoc odirefer sezev s A ©A ossI 3md me emulov / Z ed
selom = Z ed )of£A§Aartnecnoc( edadiralom )al( .etnevlos on jArevlossid otulos siam o£An euqrop ,adarutas 0£A§Aulos amu omoc adicehnoc ©A etnatluser o£A§Aulos A .. edadlralom me rartne e anigjAp atsen siam riugessorp arap sariepuot erbos odut rebas asicerp 2AcoV 3md/g ,olpmexe rop ,emulov rop assam ed 'ralom- ofAn' otamrof mu me
asserpxe ©A m©Abmat ofA§Aartnecnoc A ?augiA ed 3mc 051 me odivlossid ©A las ed g 0.6 es 3md/g me ofA§Aartnecnoc a ©A lauQ 1Q )selom rasu of£An( satnugrep ed olpmexE - ¢/m = v e v X ¢ = m :emulov ed sojnarraer = v ,assam = m ,0£A§Aartnecnoc = c adasu ©A v/m = c lareg alumr3Af a sezev sA - 3md/g = 0001/3md/g E 3md/g = 0001 x
3mc/g :0f£Asrevnocretni araP 3md/g 0.01 = 05.0/0.5 = of£A§Aartnecnoc 3md 05,0 = 0001/005 = 3mc 005 ofAtne ,3mc 0001 = 3md 1 3mc/g 10,0 = 005/0.5 = ofA§Aartnecnoc ?edadiralom amsem a m2At las ed o£A§Aulos amu ed Im 004 ed artsoma amu e Im 002 ed artsoma amu euq somezid odnauq acifingis euq O )\}2{xednlegaP\(\ MELBORP
.0£A§Aulos ad edadiralom a raluclac edop 28Acov ,las od alumr3Af ed assam a ecehnoc 28Acov es e ,3md/g me ofA§Aartnecnoc a raluclac edop 2Acov ofAtne ,elen adivlossid assam a e las ed o£A§Aulos ad otaxe emulov o ebas 2Acov es ,otnatne oN )b( ?3md rop samarg me ofA§Aartnecnoc a ©A lauQ )b( - 3md/lom 521,0 = 004.0/050,0 = of£A§Aulos rBK ed
17 - 3,17 = 2IC ssam .3mc 0.052 yltcaxe fo noitulos suoeuqga na otni pu edam eb ot dedeen si tlas eht fo g5 = 0001 / 052 x 02 = m bilvx ¢ = m ,v/ m = c .retaw erup htiw semit lareve SKOUSE: ) And noitaluclac ytiraloM - 40S2H fo g6.91 = 89 x 40S2H lom 2.0 89 = )61x4(+23 + 2 = 40S2H fo ssam alumrof ssam alumrof x selom = ssam )b(40S2H
lom 002.0 = 0001/052 x 008 ni0 ,23 = S,1 = H :s'TA[ .3md/lom ni ICH ro HOOC3 HC fo noitartnecnoc eht ,noitasinoi fo tnetxe gnirongi .g.e :selucelom dica lanigiro eht fo noitartnecnoc eht ot seilppa noitartnecnoc mret eht sesac htob nl .stinu tnereffid owt ni ytilibulos eht sserpxe ot elbissop sti ,ettepip a gnisubulo yB .dettepip6.02 x 1023 = 2.54 x
1022 molecules (e) Neon exists as unique atoms (Ar = 20), 10 + 20x 6.0 +2 x 1023 = 3.01 x 1023 atoms (f) 2Na + 2H20 ==> 2NaOH + H2, 1 sodium molecule gives 0.5 hydrogen molecules, molecule Na = 0.2 + 23 = 0.008696, therefore, mole H2 = 0,00 Mg + 2HC] = MgCI2 + H2 1 soft magnesium gives 1 soft hydrogen, mole Mg = 2 + 24,3 + + <
0.0823 so mole H2 = 0.0823 x 24 = 1.75 dm3 (h) 2 mole of Na+2CO3 or NaHCO3 will give 1 mole of CO2 (1) VCO2 0.00 = mol so Above is typical periodic table used in GCSE scientific-chemical specifications in making chemical calculations, and I 'usually' used these values in my exemplary calculations to cover most syllabuses OTHER CHANGE
What is the relative atomic mass, relative isotope mass and calculation of the relative atomic mass Calculating relative formula/molecular mass of a compound or molecule element Law of Mass Conservation and simple reacting mass calculations Composition by mass percentage of elements in a compound Empirical formula and formula mass of a
compound of reacting masses (easy start, not using molecules) React mass ratio calculations of reagents and equation products (NOT using moles) and brief mention of real percentage yield and theoretical yield, atom economy and formula mass determination Introducing moles: The connection between the moles, mass and mass of formula - the basis
of reacting calculations of the mole ratio (referring reaction masses and formula mass) ed oirAtarobal o arap adarpmoc iof odartnecnoc ICH ed 0£A§Aulos amu ed L-00.2 afarrag amU )}41{xednlegaP( MELBORP 0£A§Aulos ad oedAv mu rev arap iuqga euqilC M 5005.0 atsopseR .etnemavon adasep e adiceferra sioped e etnemavon adiceuqa etnemevaus
ofAtne ©A aicab A )6( .0£A§Aulos a ©A etnatluser aen2Agomoh arutsim a e evlossid o euq o ©A etnevlos o ,evlossid es euq o ©A otulos o ,ajes uo o£A§Aulos >== etnevlos + otulos :eterbmelL .adarutsim etnematelpmoc ©A las ed o£A§Aulos a euq ritnarag arap sezev samugla etnatsab odalaba etnemasodadiuc ocsarf o e erbos adacoloc ©A ahlor A ..
3md me emulov x )0£A§Aartnecnoc( edadiralom = selom )b1( .3md/lom )c( e 3mc/g )b( ,3md/g )a( me 0£A§Aartnecnoc a eluclaC .soda§Anava siam a01mAuq ed setnadutse arap .adarutas o£A§Aulos a animatnoc odivlossid o£An las ed latsirc muhnen euq ritnarag arap adartlif ©A of£A§Aulos A )2( o£Ardap sedadinu samugla me sepA§Aulos ed
sepA§Aartnecnoc sad 0£A§Aarapmoc ed ofArdap amrof amu ed somasicerp ,otnatroP +.0002 nworB lihP .rD ©A etis od od?AetnoC ]XOB HCRAES| siairetam oroman odniulcni ,adiv-aiem ed solucljAc & edadivitaoidaR swalL selrahC e s'elyoB ,TVP sepA§Aaler odnevlovne s.Ag ed solucljAC sacimr©Atodne/sacimr©Atoxe sepA§Aaer sacunAuq/samsAf
sepA§Aaretla me aigrene ed saicn®ArefsnarT mota aimonoce ,sodigixe setnegaer ed edaditnauq , ofA§Aazilatsirc ed augjA , )sohlerapa ed samargaid e( sepA§Aulos ed o£A§Aiulid ,ocir®Aet otnemidner & lautnecrep % ,azerup ,olpmexe rop ,solucljAc sortuO )ovitisop odon¢A ed sotudorp e ovitagen otag( esil3Artcele ed sotudorp ed solucljAc
sotnemidecorp ed sehlated ,ohlerapa ed samargaid ,ilakla- odicjA ofA§Aalutit ed solucljAc rezaf omoC )sohlerapa ed samargaid e( o£A§Aulos ed sepA§Aartnecnoc e semulov ,aloM )sotudorp-sososag serotaer ed oitar( cassul-yaG ieL e ordagovA ed ieL. ,soitar emulov sag gnitcaeR wal s'ordagovA ,sjAg mu ed ralom emulov o e seloM )0£A§Alsopmoc % uo
odnigaer sassam moc odna§Aemoc( aluc©Alom / otsopmoc mu ed ralucelom alumr3Af rizuded e acirApme alumr3Af raluclac arap selom general. Air(Na) = 23, Air(Cl) =So, MR (NaCl) = 23 + 35.5 = 58.5 mole NaCl = 5.0/58.5 = 0.08547 Volume = 250/1000 = 0.25 dm3 molarity = solute mol/solvent molarity volume Mollultion = 0.08547/0.25 =
0.3342/Mollulity Mollultion - Mollulty = 0.08547/0.25 = 0.3342/Molliculation/DM3 - 11.2 5.95g of potassium bromide was dissolved in 400cm3 water. Answer the number of moles always remains the same in a dilution. The copy of the material of the site is not permitted. The amount of water you add to the cup should be much smaller than 250cm3 to
allow the transfer and rinse of the solution to the standard volumetric balloon using a 'Squeezy' wash bottle! Eventually, a clear salt solution should be seen, there should be no residual salt crystals at the bottom of the cup or on the sides of the cup. You can use the washing bottle to rinse any crystal on the side of the cup, but watch the volume you
use.. volume = 250/1000 = 0.25 dm3 Concentration = mass/volume = 5/0.25 = 20 g/dm3 - (b) What is the solution molarity? (1) A saturated solution is prepared by mixing salt with 25cm3 of water until it no longer dissolves at room temperature. This is the maximum possible concentration for a particular solute and solvent. Answer 42.0 ml Click here
to see a video of the solution problem \ (\ Pagelndex {16} \) What volume of a solution of 0.20 m K2S04 contains 57 g of K2504? ... for example. Other calculation pages What is a relative atomic mass?, relative isotopic mass and calculating the relative atomic mass by calculating the relative/molecular mass formula of a composite composition or
elements of mass conservation and simple mass reaction calculations by percentage mass of elements in an empirical compound Formula and formula mass of a compound of reacting masses (easy start, not using moles) Calculations of mass ratio reacting from reagents and equation products (not using moles) and brief mention o£A§Aanimreted
ofA§Aanimreted alumr3Af ed assam e acim Ata aimonoce ,ocir*Aet otnemidner e laer lautnecrep otnemidner Moles: The connection between mole, pasta and fan of fan. the molecular fanmula of a compound/molding (starting with masses or % composition) soft and molar volume of one, the avogadro law reacting gain volume rates Avogadro Law and
the Gay-Mussac Law (proportion of gaseous-producing reagents), volumes and concentration of solutions (and diagrams of appliances) (this panao) as a title track), appliance diagrams, details of the procedures of electronics product (negative course and positive products of the ¢ node) other tracks, for example . % of purity, % % percentage and
income, dilution of solutions (and diagrams of appliances), crystallization, amount of necessary reagents, economy energy transfers to ‘Is in fanatic/quantic alterations, exotic/endotic reactions/gases involving pvt, boy and boyle and boy and Charles Radioactivity & Half-Life tracks, including dating materials [search box] Phil Brown 2000+. To ensure
that each drop of salt solutions end up in the balloon, a pure water wash bottle is used to rinse the glass vary times and rinse the agitation rod and the funnel also m. The more you dissolve in a certain volume of solvent, or the lower the volume in which you dissolve a certain amount of solute, the more concentrated the solution. In 'landscape' mode,
this is a great site, you need to book a time to explore it [search box] quantitative quantitative calculations. This page has the answers to the most advanced soft questions based of the sections 7. Answer 11.9 m Problem \ (\ pageindex {15} \) An experiment in a quimic laboratory requires a solution of 2.00 m of HCl. How many ml of 11.9 m hCl would
be required to manufacture 250 ml HCI 2.00 m? It is very £A 8.3 B atsopseR 40S2H g 301 - £A 36,3 40S2H lom 0,73 a ednopser levijAtop augjA an robas olep leviAtceted orref ed otaflus ed aminAm ofA§Aartnecnoc a ,4osef m 6'E 01 - A 8.1 ed Im 523 )d(" xif ed "odicet ed sartsoma" avamutsoc odAedlamrof o ,0C2H M 3,31 ed L 05,5 )C( oenAugnas
oros on 0id3As ed otenaic ed aminAm latel ofA§Aartnecnoc a ,NCAN m 01 - £A 8,3 ed Im 0,001 )B( odartnecnoc ocir?Aflus odicjA ,40S2H m 5,81 ed L 00,2 )a( :sepA§Aulos setniuges sad amu adac me otulos od assam a e selom ed orem2An o eluclaC )\ }5{ xednlegaP \(\ amelborP M 2-0 1 1 -£A 31.1 F atsopseR M 3565,0 E atsopseR M 26,7 D atsopseR
M 2-01-£A 221.6 C atsopseR m 3-01-£A 52.5 B atsopseR m 3179,0 A atsopseR o£A§Aulos ed Im 50,1 me ,20N5H2C ,anicilg ed g 988000,0 o£A8AuloS ed Im 00,01 me 2rB ed lom 356500,0 o£A§Aulos ed L 54,1 me O2H5 -A 40SUC ed gk 67,2 o£A§Aulos ed Im 5751 me 3 )30N( 1A ed g 45,02 of£A8Aulos ed L. 00,1 me 40S2H ed g 515,0 o£A§Aulos ed L
005,1 me ICK lom 754,1 : sepA§Aulos setniuges sad amu adac ed edadiralom a enimreteD )\ }4{ xednlegaP \( \ amelborP ¢A ofA§Aulos ad oedAv mu rev arap iuqa euqilC m 6.6 F atsopseR m 070,0 E atsopseR m 57,1 D atsopseR M 89960.0 C atsopseR m 00,1 B atsopseR M 976,0 a atsopser A of£A§Aulos ed L 570,0 me 1CH ed gm 401 - £A 8,1 of£A§Aulos
ed Im 0,001 me 2i ed lom 3'E 01 £A 0.7 o£A§Aulos ad L 06,81 me O2HO01 -A 40S2aN ed gk 5,01 o£A§Aulos ed Im 00,04 me ,2 )HO ( ac( aC( aC(aC( aC ,oicljAc ed odix3Ardih ed g 4702,0 o£A§Aulos ed L 00,1 me( ac( aC( aC( aC( aC( aC ,oicljAc ed odix3Ardih ed g 4702,0 o£A§Aulos ed L 00,1 me ,40p3H ,ocir*Afsof odicjA ed g 0,89 of£A§Aulos ad L 456,0
me 2lcoc ed lom 444,0 :sepA§Aulos setniuges sad amu adac arap edadiralom a enimreteD )\ }3{ xednlegaP \( \ amelborP .opoc o euq od siam samarg 529,2 etnemataxe asep ©Ata opoc oa sodanoicida o£As las ed siatsirc so ,)adartsom ofAn( alutjApse amu moc ,odadiuc otium moC .0£A§Aulos amu ed ocifAcepse emulov uo of£A§Aartnecnoc ed
0£A§Au}os amu me etneserp iAtse adivlossid aicn¢Atsbus amu ed otnauq etnemataxe rebas 10'6 mol Nacn 1.9 £ - 10""4 g NACN Answer C 73.2 mol H2CO 2.20 kg H2CO Response D 5.9 £ - 10 € T '7 mol feast4 8.9 Af-101 5 g Feso4 click here odad mu me evlossid es euq otulos ed amixjAm edaditnauq a ©A aicn¢Atsbus amu ed edadilibulos A ?
sacitn2Adi o£As sartsoma saud sa sarienam euq eD ?)M5.0( 3-md lom 005,0 ed o£A§Aulos amu ed )3md 005,0( 3mc 005 ©Ata rezaf arap oirjAssecen ©A )HOaN( 0id3As ed odix3Ardih ed assam euQ 3.11 olpmexE edadeiralom ad olucljAC - 3md/g 9,41 = 4,0 / 59,5 = o£A§Aartnecnoc 3md 4,0 = 0001 / 004 = emulov o ,emulov / assam = of£A§Aartnecnoc
.adarutas of£A§Aulos ad edadiralom a raluclac ,002 iof las od alumr3Af ed assam a euq ahnopuS 3md/g09 = las ed edadilibuloS 3mc 0001/g09 = 01 /9.0 x 0001 = X ,3mc0001 o£A§Aulos me jArevlossid g X ,o0ssi roP 3mc 0.01 me las ed g9.0 somet )a( etrap aD .1 olpmexE .2 olpmexE .acifAcepse edadiralom amu rad arap odacificepse emulov mu me
riulid @Acov euq ,onilacla uo odartnecnoc odicjA ed laihp mu ,UO ?setnerefid o£As sartsoma saud satse sarienam euq eD .ossecorp o rareleca a aduja o£A§Aatiga ed etsah amu ed osu o e las o etnematelpmoc revlossid arap rotsac oa adanoicida o£Atne ©A )desinoied/dellitsid( arup augjA A ?odad lanif emulov o arap odAulid ©A sepA§Aulos setniuges
sad amu adac odnauq adAulid o£A§Aulos ad edadiralom a ©A lauQ )\}21{xednlegaP\(\ MELBORP ofA§Aulos ad oedAv mu rev arap iuga euqilC M 497.0 adnopseR ?0£A§Aulos ad edadiralom a ©A lauQ .ICH ed g 8,868 ahnitnoc o£A§Aulos A .etiel ed L 0,1 me ,+2aC omoc ,oicljAc ed g 0,1 ed acrec jAH )\} 7{xednlegaP\(\ MELBORP M 3401 A 1.1d
atsopseR M 29.9 c atsopseR M 994.0 b atsopseR M 3401 A 40.5 a atsopseR C°A 02 a augjA an 2I ed edadilibulos a ,0£A8Aulos ed L. 001,0 me 2I ed g 920,0 )d( loocljA ed ofA§Aagerfse an ocilAporposi loocljA ed ofA§Aartnecnoc a ,0£A8Aulos ed L 05,2 me ,HO7H3C ,ocilAporposi loocliA ed gk 94.1 )c( acits©Amod ain"Ama me 3HN ed ofA§Aartnecnoc a
,0£A8Aulos ed L 005,0 me 3HN ed g 52.4 )b( onamuh oros on loretseloc ed aid©Am ofA§Aartnecnoc a ,oros ed L. 001.0 me ,064H72C ,loretseloc ed g 591.0 )a( :sepA§Aulos setniuges sad amu adac ed edadiralom a eluclaC )\}6{xednlegaP\(\ MELBORP ofA§Aulos ad oedAv mu ajev solvent. The solubility of a substance is the mother amount that it will
dissolve in a certain volume of solvent, for example, water. Masses: NA = 23, CL = 35.5, FANRMULA MASS NACI = 23 + 35.5 = 58.5 From mass = Mass mass X, to 1 concentration dm3 = 1.5 x 58.5 = 87, 8 g/dm3, and concentration = 87.75/1000 = 0.0878 g/cm3 - Example 11.6 Candle a solution of bracket sulfate (case4) contained 0.500g dissolved
in 2.00 dm3 of water. The procedure to be described in detail after Example 2. In mole and mass - essentials essential for section 11 ... It is important to know the solubility of the substance in woolly vain, quite Often cited as the mox solubility of water salts, but often quoted, not as molarity, but in g salt /100 g of water and plotted in graphs known as
solubility curves. Then pipette with 10 cm3 precise of the solution of saturated salt in the basin and stuffing the dish and the containment. Answer 0.5000 L. CLICK HERE TO SEE A VONE OF THE PROBLEM SOLUTION \ (\ Pageindex {10} \) What volume of a solution of 0.3-M2H22011 can be diluted to prepare 25 ml of one solution with a
concentration of 0.025 m? (A) Calculate your molarity. With the salt solution of 10.0 cm3 by weight 107.7g after the evaporation of the water the dish weighed 96.5g mass of salt solution of 10.0 cm3 = 107.7 - 95.6 = 12.1g salt mass in 10 cm3 of salt solution = 96.5 - 95.6 = 0.9g Evaporated water mass = 107.7 - 96.5 = 11.2¢g (a) expressing solubility in
grams salt per 100 g of & Water of mass data above 0.9g of salt dissolved at 11.2g of water therefore x g of salt dissolves in 100g of water, x = 100 x 0.9 / 11.2 = 8.0 Therefore, the solubility of Sal = 8.0g/100g of water you can scale this at © 80.0g/1000g H20O, or calculate how much salt would dissolve in any amount of water. moles and pasta before
proceeding in this section 11 and eventually you may need familiar with the use of the deviceAbove, some of which are highly in accordance with dealing with solutions and a few. For more about solubility to see important compounds of compounds, salt solubility and water crystallization. € ™ in the science compared to everyday language at scientific
language concentration is a specifically defined term, for example, (i) solute mass per unit of solvent volume, for example, g/dm3, g/cm3 (g dm-3, g cm-3), or, (ii) moles per unit of solvent volume, for example, mol/dm3 (mol dm-3), nor no a a © a vague description, are terms and specific units! "Strength" in terms of concentration of solution is not a
scientifically defined term and tends to be used in everyday language for "Crudely" to indicate a concentration, for example, "" Great/high resistance "indicating a very concentrated solution, and, on the other hand," low/weak force "to indicate a low concentration solution. Answer 4.8 &— 104a'6 m Click here to see a contribution solutions 11.
Summaries of Examination & Reviews The Specifications of the Science Course is not official. Penina 3 Responses to the concept of the concept of no more advanced mole doc brown's chemistry - GCSE/IGCSE/GCE (not Baésic A) Online Chemical Calculations Answers to Part 7 - The most soft advanced q's The Original Mole Questions Index of All My
Online Chemical Quadica Quizz Quizzes All My GCSE/IGCSE/US Grid 8-10 Chemistry Revision Notes Advanced UK A/A US Degree Use your cell phone or iPad etc. Did you see any careless mistakes? 1.00 1 of a solution of 0.250-m of Fe (NO3) 3 is diluted for a final volume of 2.00 L 0.5000 L of a 0.1222- The solution m of C3H70H is diluted for a
volume End of 1,250 L 2.35 L of a solution of 0.350-m of H3PO4 is diluted to a final volume of 4.00 L 22.50 ml of a solution of 0.025-m from C12H22011 © Diluted to 100.0 ml 0.125 M Response b 0.04888 M Answersmret ni noitartnecnoC )i( ytiralom fo snoitaluclac elpmis dna noitartnecnoc fo serusae M )b(xedni-bus dna EGAP , and , J 9.1 rewsnA ?
3md/g ni noitartnecnoc eht si tahw )a( ,ksalf cirtemulov detarbilac a ni retaw fo 3mc 052 yltcaxe ni devlossid si edirolhc muidos fo g00.5 == sync, corrected by elderman == S .noitartnecnoc )-IC( noi edirolhc eht fo smret ni 3md/lom 0.2 TUB )+2gM( snoi muisengam fo 3md/lom 0.1 sniatnoc ,)qa(21CgM edirolhc muisengam fo noitulos ralom 0.1 A .g.e
sdnuopmoc cinoi fo snoitulos no eton A ?Lm 00.54 ot decuder si emulov noitulos eht litnu etaropave ot dewolla si 30C2aN fo noitulos M-88990.0 a foega Lm 5.522 nehw decudorp noitulos eht foifitar M 6500.0 d rewsnA M 602.0 602.0Mass of solute per unit volume of solution a summary of how to make basics of concentration and rearrangement of
the concentration of concentration of the solution in which we will analyze the soft moles ( b) (ii) the simplest measure of concentration is solute mass per unit of solvent solvent volume for example. Concentration = solute mass / solvent volume take 5.0 g of salt dissolved in 500 cm3 of water. In addition to weighing a healthy, the procedure is the
same and, ensuring that each drop of phial is rinsed in the funnel in the balloon -calibrated volume. Completed task! NOTE SOLUTIONS STANDARDS OF THE DIDS AND ALCALIS You can buy standard solutions ready for use. What is the Molarity of CA2+ in milk? ¢ = m / v, rearrangement providesv=m/cv = 5.0/ 12.5 = 0.40 dm3 Volume of



necessary = 1000 x 0.40 = 400 cm3 - also good being able to dilute 'calculations in section 14.3 Dilution of Top Top Page and Sub-Index (II) (II) Concentration TERMS OF SOLUTE BLACK BY UNIT VOLUME OF SOLUTION A SUMMARY OF HOW TO MAKE BOTTING COLLECTIONS OF MOLARITY AND REARRANCE OF THE FUNRMULA OF
MOLARITY FOR MOST ANALYNATIC AND COLLECTION PURPOSES CONCENTRATION From an aqueous the solution is generally expressed in terms of substance soft moles dissolved by decimetre stable of the solution (trinion of the shape of the mole to the right reminder). A low resistant solution of a case indicates that it is a weak one and only
ionizes a few % to give hydrogen. Suppose the plate weighing 95.6g. See the dilution boards in section 14.3 Dilution of solutions on top of the pamga and sub-power (e) self-assessment tests Molarity: Type Response Tests on Molarity ¢ £ a atiplaxes Mother Options on the type of molarity in holding response-ownership (good review for notable
students) See Also advanced level gce-a2-alcali-alcali the issues of the above title cash. ESCG ESCG aicn2Aic ad aicn2Aic ad sepA§Aacificepse san adasu Doing molarities, and I usually used these values in my exemplary boards to cover most syllabuses what Next? Mass H2 =2, 34 - 2x 6.02 x 1023 = 9.03 x 1023 Mollets (C) 1.2 - 24000 x 6.02 x 1023 =
3.01 x 1019 MOLAS (D) f. Concentration can be expressed in several ways. Note: 1dm3 = 1 liter = 1000ml = 1000 cm3, therefore, divide cm3/1000 dm3, which is to know, since most volume laboratory appliances are calibrated in cm3 (or ml) but the concentration of solutions are usually cited in molarity, ie mol/dm3 (mol/liter). However, many
substances such as salts are very solid in the water and a merely a mere evaporation of evaporation which is described below for example for a thermally stated salt as chloride of healthy. (a) Concentration = 0.500/2.00 = 0.250 g/dm3, then from 1dm3 = 1000 cm3 (b) concentration = 0.250/1000 = 0.00025 g/cm3 (or 0.500/2000) (c) Pasta: ca = 40, s
= 32, 0 = 64, mass fan. CASE CONCENTION Case4 = 0.00368 / 2 = 0.00184 mol / DM3 - Spring Call Example 11.7 £ o 14.3 Dilution of solutions are more questions involving molarity in section 12. (2) Molarity x Solute fanmula = solute concentration in g/dm3 This is sometimes referred to as mass concentration, and dividing it into 1000 gives
concentration into g/cm3, and (3) concentration in g/dm3/ Father mass = molarity in mol/dm3 Both equations (2) and (3) result from equations (1) and (4), strive to oneself. A Beaker is placed on the equilibrium and noticed reading (ignore the no2Meros in the diagram).
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